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1-LL.B.
LAW OF CRIMES
(2003 Pattern) (Sem. - 1) (Paper - 1)
Time : 3 Hours| ‘ [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) State and explain the various types of punishments. [16]
OR

Examine the maxim actus non facit rum, nisi mens sit rea.

02) Explain the provisions regarding ‘Abetment of an offence. [16]
OR
Explain in detail the right of private defence of the body and of property.

) Explain the offence defamation.- [16] -
OR
State the ingredients of the offences of ‘Rioting and affray.

9)/Distinguish between any two of the following : [16]
a) Culpable homicide and murder. ‘
b) Giving false evidence and fabricating false evidence.
¢) Theftand extortion.

d) - Kidnapping and abduction.

05 Write short notes on any three of the following : [18]
< ) Mischief i
b) Dowry death. !
}y Attempt to commit sui'cide.
9){’ Bigamy and adultery.
e) Criminal breach of trust.
f) Forgery.
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b)

‘A’ intentionally pulls up a women’s veil without her consent. What
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offence ‘A’ has committed?

‘A’ finds a purse with money, not knowing to whom it belongs, he

afterwards discovers that it belongs to ‘Z’ and appropriates it to his own
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use. Whether ‘A’ is guilty of an offence?

‘A’ instigates ‘B’ to murder ‘C’, ‘B’ refuses to do so. Whether ‘A’ has
committed any offence.

‘A’ commits house-trespass by entering ‘Z’ s house through a window.
What offence ‘A’ has committed?

‘A’ says - “I think Z’s evidence on that trial is so contradictory that he
must be stupid or dishonest. Whether ‘A’ has committed any offence.
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